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Examine the tables of Absolute Indices of Refraction in your Reference Tables. P. (‘ll 8 (0

Formula:

I.[In which substance will light travel the fastest? What is its index of refraction?

/\QLS 2. |In whj substance will light travel the slowest? What is its index of refraction?
o\]a\ qmond. n=2.42
3. |What is the relationship between the index of refraction of a substance and the speed of light in that substance?

inverse r’claﬁOﬂﬁth Wit n=1.32
o n=l.

4. Calculate the speed of light in water.
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5. Will light slow down if it travels from corn oil 1o 7 Explain.

N [.3%
No, becavse womoil 4 glass have almas F Hhe same. indexo refrachon..

6. If light crosses a hurnclury between two substances with very different indices of refraction . . .

?hjl_ e will mangc chcof (and therefore reback) 4 [of

ght crosses a boundarwhetwedn two substances with very similar indices of refraction . .

ligir will not thange Speed (or ekack ) L/C/’H much ar all

8. Why does the table indicate (/= 509x 1 "'.Hz)’;’

average fieguency o usible light ¢~ M
: Complete th:path of;he light ray throughuthe Glass block in each diagram below.
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Snell’s Law of Refraction

Snell’s Law (Law of Refraction) S 9 \ /--:
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Use Snell’s law to construct the reﬁa(%[ed ray —F |
on the diagram at right.
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" Use a Snell’s law to determine and draw the path light takes in the material as shown. Note: Indices are

in the text. Also, not all interfaces are horizontal. Dotted lines are the normal lines.
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Refraction and Wavelength

i ?
Why does refraction occur? Fast moving

incident
1 wavelronts

As the wave enters a more optically dense medium . . .

Slow-moving
. : refracted
Relationship: wave fronts




